Addition and Subtraction

S+6-=1l 2-9-3

I+ 8 -

5 -7 -

20 - 12 -



Challenge

Scarlett has 10 sweets. She Giv-2s b to Harr%. H.o - moony
does she harve Left?

Matilda has 6 green cars and 8 hlue cars. How many

cars does she hare aliagzihzr?

Cooper is wearing |3 stickers. 9 Jall o)) How many does

he hare lz{li:?

L%di.a has 16 slices 0{1 ,P,L/ZJZ,CI. She 91/\/“2/& 8 slices to LLL%.

How many does she hanve Left?

Noah has 3 Jlﬁﬁtball caords, Roman has & Jlaai:ball cards
and Albie has 7 Joothall cards. How many do they harve
aliugzihzr?



